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1. True/False: Leaves and branches catch and slow rainwater
and reduce soil erosion and water waste from runoff:
A. True
B. False

2. The chemical inhibition of growth and development of one
plant by another is called:
A. Herbicide damage
B. Phloem
C. Allelopathy
D. Nematodes

3. Properties without trees sell for more than properties with
trees:
A. False
B. True
C. Legal regulations drafted and instituted to protect trees

within a given jurisdiction
D. What are the 3 groups of benefits trees provide?

4. This tool can be used for aeration and radial trenching:
A. Ax
B. Chainsaw
C. Leaf blower
D. Air-spade

5. This wall is formed by new wood tissue and is the
strongest:
A. Wall 1
B. Wall 3
C. Wall 4
D. Xylem

6. Can soil surfaces be compacted by irrigation hitting it?
A. True
B. False

3Sample study guide. Visit https://certifiedarborist.examzify.com for the full version

SA
M

PLE



7. Lateral spread of decay is inhibited by this wall, activating
ray cells:
A. Wall 1
B. Wall 3
C. Wall 4
D. Compartmentalization Of Decay In Trees

8. How many points of attachment must a climber have when
using a chainsaw in a tree?
A. One
B. Two
C. Three
D. Four

9. This tissue conducts carbohydrates:
A. Phloem
B. Photosynthesis
C. Transpiration
D. Stomata

10. Which tree is commonly found in the American South, has
slender form, and strong branches?
A. Ash tree
B. Poplar tree
C. Elm tree
D. Dogwood tree
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Answers
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1. A
2. C
3. A
4. D
5. C
6. A
7. B
8. B
9. A
10. B
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Explanations
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1. True/False: Leaves and branches catch and slow rainwater
and reduce soil erosion and water waste from runoff:
A. True
B. False

The statement is true because leaves and branches play a crucial role in managing
rainwater. When it rains, the canopy of leaves intercepts a significant portion of the
rainfall, which slows down the water before it reaches the ground. This process not only
helps reduce the speed of the water but also allows for better infiltration into the soil. As
a result, this leads to reduced soil erosion, as fewer soil particles are washed away by
fast-moving water.  Moreover, by capturing rainwater, trees and other vegetation help
minimize surface runoff. This not only conserves water but also reduces the risk of
flooding in nearby areas. The presence of vegetation can promote water retention in the
soil, ultimately benefiting the plants and the surrounding ecosystem.  In summary, the
role of leaves and branches in slowing rainwater and mitigating soil erosion and water
waste is a key aspect of healthy ecosystems and the importance of maintaining tree cover
in landscapes.

2. The chemical inhibition of growth and development of one
plant by another is called:
A. Herbicide damage
B. Phloem
C. Allelopathy
D. Nematodes

The concept of allelopathy refers specifically to the chemical inhibition of growth and
development in one plant species by another. This process occurs when plants release
allelochemicals into the environment, which can influence the germination, growth, and
development of other plants nearby. Allelopathy plays a significant role in plant
competition and ecosystem dynamics, affecting biodiversity and the composition of plant
communities.  In contrast, herbicide damage involves the application of a chemical
designed to control unwanted vegetation but does not pertain specifically to the natural
interactions between living plants. Phloem refers to the vascular tissue responsible for
transporting nutrients in plants, which is unrelated to the concept of chemical inhibition.
Nematodes are microscopic worms that can be harmful to plants but are not involved in
the chemical interactions described by allelopathy. Thus, allelopathy is the most accurate
and relevant term among the options provided.
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3. Properties without trees sell for more than properties with
trees:
A. False
B. True
C. Legal regulations drafted and instituted to protect trees

within a given jurisdiction
D. What are the 3 groups of benefits trees provide?

The assertion that properties without trees sell for more than properties with trees is
generally considered to be false. Numerous studies and market analyses have indicated
that homes with trees and landscaping often sell for higher prices than comparable
properties without such features. Trees provide significant aesthetic value, enhance curb
appeal, and contribute to a sense of well-being, making properties more attractive to
potential buyers.   Properties with mature trees can also offer energy efficiency benefits
through shade, potentially lowering cooling costs in the summer and increasing overall
comfort. Furthermore, the presence of trees is often associated with desirable community
traits such as lower noise levels, improved air quality, and a stronger natural
environment, which can further increase property value.  In terms of the other options,
while protecting trees through legal regulations is important and can influence property
values, the primary focus here is on the general market trend regarding properties with
and without trees. Similarly, discussing the groups of benefits trees provide is relevant
but not directly related to the question of property values.

4. This tool can be used for aeration and radial trenching:
A. Ax
B. Chainsaw
C. Leaf blower
D. Air-spade

The air-spade is specifically designed for aerating soil and performing radial trenching.
It utilizes compressed air to break up compacted soil without damaging the roots of
nearby plants and trees. This makes it an effective tool for promoting soil aeration,
enhancing root growth, and allowing for better water penetration. Its ability to displace
soil effectively while preserving root structure distinguishes it as the preferred choice in
arboricultural practices where careful handling of tree roots is essential.  Other tools like
the ax, chainsaw, and leaf blower serve very different purposes; an ax is mainly for
cutting wood, a chainsaw for felling trees or cutting timber, and a leaf blower is used for
removing leaves and debris. None of these tools are suitable for soil aeration or
trenching in a way that protects surrounding vegetation. This focus on the air-spade’s
capabilities makes it the correct answer for tasks involving soil aeration and radial
trenching.
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5. This wall is formed by new wood tissue and is the
strongest:
A. Wall 1
B. Wall 3
C. Wall 4
D. Xylem

The wall formed by new wood tissue that is considered the strongest is identified as the
xylem. Xylem is a type of vascular tissue in plants responsible for the conduction of water
and minerals from the roots to the leaves, as well as providing structural support.   In the
context of wood anatomy, newly formed xylem contributes to the growth rings that
increase the tree's diameter over time. This tissue is characterized by its tough, lignified
cell walls that provide strength and rigidity, which is essential for supporting the weight
of the tree and resisting mechanical stresses such as wind.   While other walls mentioned
in the question could refer to different structural components, the xylem is specifically
designed for strength and stability, making it the strongest type of tissue in terms of
structural integrity within the tree. Understanding this relationship is crucial for
recognizing how trees grow and thrive in their environments, as well as the importance
of xylem in overall plant health and stability.

6. Can soil surfaces be compacted by irrigation hitting it?
A. True
B. False

The correct answer is that soil surfaces can indeed be compacted by irrigation hitting it.
When water from irrigation systems strikes the soil surface with enough force, it can
cause the soil particles to rearrange and pack more tightly together. This phenomenon
often occurs when there are heavy droplets or when the irrigation heads are positioned
too close to the ground, resulting in excessive impact. As the soil compacts, it can lead to
reduced porosity and permeability, which adversely affects root growth and water
infiltration.  Compaction can also be influenced by other factors such as soil texture and
moisture content, but the direct impact of irrigation on the soil surface is a legitimate
concern within arboriculture and landscape management. Hence, this aspect needs to be
managed carefully to maintain healthy soil conditions.
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7. Lateral spread of decay is inhibited by this wall, activating
ray cells:
A. Wall 1
B. Wall 3
C. Wall 4
D. Compartmentalization Of Decay In Trees

The correct answer is related to the natural defense mechanisms that trees employ to
manage decay and protect their vital structures. The lateral spread of decay is inhibited
by specialized structural features in the wood, including walls that are formed as part of
compartmentalization, which is a critical aspect of how trees respond to damage or
disease.  The structural change known as compartmentalization involves the formation of
barriers—often referred to as walls—that limit the spread of decay and help the tree
isolate affected areas. These barriers activate ray cells, which are instrumental in
forming a protective boundary to prevent decay from spreading into healthy tissues.   In
this context, the specific wall mentioned acts effectively to stop the progression of decay
by utilizing the tree's innate ability to compartmentalize. This process allows the tree to
maintain overall health and stability despite localized decay events.  Understanding how
compartmentalization works and the role of these walls is fundamental for arborists and
helps inform proper tree care and management practices.

8. How many points of attachment must a climber have when
using a chainsaw in a tree?
A. One
B. Two
C. Three
D. Four

The correct answer is that a climber must have two points of attachment when using a
chainsaw in a tree. This practice is vital for ensuring the climber's safety while working
at heights, as it provides stability and reduces the risk of falling.   Having two points of
attachment means that if one point fails, the second one will support the climber,
preventing a potentially dangerous situation. This is particularly important when
operating a chainsaw, which requires both hands for control. The use of two points of
attachment allows the climber to maintain balance and control while performing tasks
that could shift their weight or require movement.  Adequate safety measures are critical
in arboriculture, especially when operating equipment like chainsaws at height. This
standard is part of adherence to safety protocols designed to minimize risk during tree
work.
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9. This tissue conducts carbohydrates:
A. Phloem
B. Photosynthesis
C. Transpiration
D. Stomata

Phloem is the vascular tissue responsible for the transport of carbohydrates and other
organic compounds throughout the plant. It functions primarily in distributing the
sugars produced during photosynthesis from the leaves (where they are synthesized) to
other parts of the plant, including roots, stems, and fruits, where they can be utilized for
growth, energy storage, or other metabolic processes.  The other options provided do not
accurately describe tissues that conduct carbohydrates. Photosynthesis is a process that
takes place in the chloroplasts of plant cells, primarily in the leaves, where light energy
is converted into chemical energy, resulting in the production of carbohydrates.
Transpiration refers to the process of water vapor leaving the plant through small
openings in leaves called stomata, which is related to water movement, not carbohydrate
transport. Stomata are the structures that facilitate gas exchange but do not have a role
in carbohydrate conduction. Thus, phloem is specifically designated for the movement of
carbohydrates, making it the correct answer.

10. Which tree is commonly found in the American South, has
slender form, and strong branches?
A. Ash tree
B. Poplar tree
C. Elm tree
D. Dogwood tree

The poplar tree is well-known for its slender form and strong branches, making it a
common species in the American South. Its tall and narrow growth habit allows it to
thrive in a variety of environmental conditions, especially in areas with ample water
supply. The wood of the poplar is also valued for its strength and lightness, contributing
to its stability even in adverse weather conditions. This makes it a popular choice for
landscaping and reforestation efforts in southern regions.   While other trees mentioned,
like the ash, elm, and dogwood, have their own unique features and advantages, poplars
are particularly recognized for their height and robustness, which suits the
characteristics described in the question.
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